
Explore more Hamilton Trust Learning Materials at https://wrht.org.uk/hamilton 

Week 7, Day 3 
Finding change 

 
Each day covers one maths topic.  It should take you about 1 hour or just a little more. 

 

1. Start by reading through the Learning Reminders. 

They come from our PowerPoint slides. 

 

 

 

 

 

2. Tackle the questions on the Practice Sheet.   

There might be a choice of either Mild (easier) or 

Hot (harder)! 

Check the answers. 

 

 

 

 

 

3. Finding it tricky? That’s OK… have a go with a 

grown-up at A Bit Stuck? 

 

 

 

 

 

 

 

 

 

4. Think you’ve cracked it?  Whizzed through the Practice Sheets? 

Have a go at the Investigation… 

 

 



Explore m
ore H

am
ilton Trust Learning M

aterials at https://w
rht.org.uk/ham

ilton 

Learning Rem
inders 

 

 
 

 



Explore m
ore H

am
ilton Trust Learning M

aterials at https://w
rht.org.uk/ham

ilton 

Learning Rem
inders 

 

 
 

 
 



©
 H

am
ilton Trust

3UDFWLFH�6KHHW�0
LOG

Toy shop

&
KRRVH�D�WR\�WR�E

X\��&
DOFXODWH�WKH�FKDQJ

H�IURP
��
�
S
�

�
�
S
�

�
�
S
�

����
�
S
������

�
S
������

�
S
��������

�
S
�
�����

�
S

�
�
S
�

�
�
S
�

������
�
S
�

����
�
S
�

��
S
��

���
S

([S
ORUH�P

RUH�+
DP

LOWRQ�7UXVW�/HDUQLQJ
�0
DWHULDOV�DW�KWWS

V���Z
UKW�RUJ

�XN�KDP
LOWRQ



©
 H

am
ilton Trust

3UDFWLFH�6KHHW�+RW
Toy shop�

&
KRRVH�D�WR\�WR�E

X\��&
DOFXODWH�WKH�FKDQJ

H�IURP
��
�
S
��RU�IURP

��
�
S
�LI�LW�FRVWV�P

RUH�WKDQ��
�
S
�

�
�
S
�

�
�
S
�

����
�
S
������

�
S
�������

S
��������

�
S
�
�����

�
S

�
�
S
�

�
�
S
�

������
�
S
�

����
�
S
�

�����
�
S
��

���
�
S

([S
ORUH�P

RUH�+
DP

LOWRQ�7UXVW�/HDUQLQJ
�0
DWHULDOV�DW�KWWS

V���Z
UKW�RUJ

�XN�KDP
LOWRQ



© Hamilton Trust

3UDFWLFH�6KHHW�$QVZHUV

Toy shop �PLOG�

��S�����S�= �S
��S�����S�= �S
��S�����S�= �S
��S�����S�= ��S
��S�����S�= 5p
��S�����S�= �S
��S�����S�= �S
��S�����S�= �S
��S�����S�= 6p
��S�����S�= 8p
��S�����S�= �S
��S����S�= ��S
��S����S�= ��S

Toy shop��KRW�

��S�����S�= �S
��S�����S�=��S
��S�����S�= �S
��S�����S�= ��S
��S����S�= ��S
��S�����S�= 5p
��S�����S�= �S
��S�����S�= 5p
��S�����S�= 8p
��S�����S�=���S
��S�����S�= �S
��S�����S�= �S
��S�����S�= 6p

([SORUH�PRUH�+DPLOWRQ�7UXVW�/HDUQLQJ�0DWHULDOV�DW�KWWSV���ZUKW�RUJ�XN�KDPLOWRQ



© Hamilton Trust

Work in pairs

Things you will need:
• 1p and 10p coins
• Money lines
• A pencil

What to do:

• Take it in turns to be the shopkeeper and the customer.

• The customer chooses a sweet and gives the shopkeeper 10p.

� 7KH�VKRSNHHSHU�XVHV�WKH�PRQH\�OLQH�WR��QG�WKH�FKDQJH�IURP���S�
The shopkeeper gives the change to the customer.

• Both people write the change by the sweet.

$�%LW�6WXFN"
Sweet�VKRS

S-t-r-e-t-c-h:

Learning outcomes:

8VH�SDLUV�WR����WR�KHOS�ILQG�WKH�FKDQJH�

� ,�FDQ�ILQG�WKH�FKDQJH�IURP���S�XVLQJ�D�PRQH\�OLQH�
� ,�DP�EHJLQQLQJ�WR�XVH�SDLUV�WR����WR�ILQG�FKDQJH�IURP���S

([SORUH�PRUH�+DPLOWRQ�7UXVW�/HDUQLQJ�0DWHULDOV�DW�KWWSV���ZUKW�RUJ�XN�KDPLOWRQ



© Hamilton Trust

Change           p     Change  p Change           p

Change           p      Change   p  Change          p 

Change           p      Change   p  Change          p 

9p
6p

7p

1p
4p

8p

2p 5p
3p
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�� Choose a cake.
Choose a coin to buy it.
&DOFXODWH the change.
Write it down.

�� 5HSHDW�WKLV��YH�WLPHV�

�� Talk to someone else.
:KDW�GLIIHUHQW�DPRXQWV�RI�FKDQJH�KDYH�
they written in their list?

�� How many ways can you make different�
amounts of change?

Explore this – trying to be logical…

Challenge

Using these coins and these cakes…
How many ways can you make each possible amount of change?

Cake 1p, coin 2p – change = 1p

Cake 4p, coin 5p – change = 1p

Cake 9p, coin 10p – change = 1p

Cake 19p, coin 20p – change = 1p

There are four ways of getting 1p change.

([SORUH�PRUH�+DPLOWRQ�7UXVW�/HDUQLQJ�0DWHULDOV�DW�KWWSV���ZUKW�RUJ�XN�KDPLOWRQ
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